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Limits and Derivatives Test

CALCULATOR ALLOWED Score

Round to 3 decimal places. Show all work.

1.  Find the zeros of y=3x*—x*—-12x+4 . Show the algebraic work to support
the zeros.
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2. Find the éxtreme points of y=3x>—x*—12x+4 . Show the derivative and
algebra to support the critical values.
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3.  Find the zeros of y=x*-29x*+100. Show the algebraic work to support

the zeros.
= _ ( 5 3 N
X = 25\ T ) =
N 7
(s )
(22, ©)
4. Find the extreme points of y=x*—29x>+100. Show the derivative and

algebra to support the critical values.
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5. At SI, there was an outbreak of the norovirus. The number of members of
the school community as well as the numbers of siblings and members of other

infected people outside of SI is given by the function N (t) = é—tg' ~20¢*+580¢+1 on

te [0,48] , where N is the number of people infected, and ¢ is the number of hours

since the outbreak started.

a) Find all times at which you have a maximum or minimum number of people
infected.

b) Find the absolute maximum number of people infected.

¢) Find the interval of time when the number of people infected with the
norovirus is increasing.
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6. The sign pattern for the derivative of H (x) is given. (a) Is x=—6 ata

maximum, a minimum, or neither? Why? (b) Is x=3 ata maximum, a
minimum, or neither? Why?
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7. Find the traits and sketch y=3x*—x*-12x+4.
Domain: }cé;r,ﬂ ,;,c,izz,m,g Range: Aic Aedacs
Y —Int: (o ) End Behavior: LeFT Dow /ﬁT ut)

Zeros:(i 2. 5 C‘/g, ‘ 65 Extreme Points: st ze 2




8. Find the traits and sketch of y=x*-29x*+100.
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